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Tests of Normality

Kolmogorov-Smirnov® Shapiro-Wilk
Statistic | df Sig. Statistic df Sig.
Residual for Y 117 | 25 .200* 967 25 | 564
*. This is a lower bound ofthe true significance.
a. Lilliefors Significance Correction
f) (¢
Independent Samples Test
Levene's Test for
Equality of Variances t-test for Equality of Means
Mean
F Sig. t df Sig. (2-tailed) | Difference
BodyWeight Equal variances
assumed 414 521 -2.935 215 004 -.54
Equal variances
not assumed -2.907 173.498 004 -.54
300
200 —
100 171
Std Dev=17.81
Mean = 456
0 N = 151400
200 300 400 500 600 700 800 900
250 350 450 550 650 750 850
Age of Respondent
H o # o, (F) (0
Paired Samples Statistics
Stil. Errar
Mean I Stad. Deviation Mean
Pairt 1 13.67 15 1.852 504
¥2 1427 18 1.580 408
Paired Samples Test
Paired Differences
95% Confidence Interval of the
Std. Error Difference
Mean Std. Deviation Mean Lower Upper df Sig. (2-tailed)
Pairt  y1-y2 -.600 1.549 400 -1.458 258 -1.500 14 156
(Y) (e
Descriptives
Statistic | Std. Error
b Mean 4.30673 036420
95% Confidence Intarval Lower Bound 4.23501
for Mean Upper Bound | 437845
5% Trimmead Mean 4.34988
Meadian 4.50000
Variance 345
Std. Deviation 587250
Minimurm 2625
Maximum 5000
Range 2375
Skewness -1.150 A51
Kurtosis 267 301
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Case Summaries

Geometric Harmanic
N Mean Mean Mean

736 17.9585 17.8797 17.7922
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x=rep (c ("Low" , "Medium" , "High") ,c(10,15,19))
pct=round (table (x) /sum(table (x)) ,2)
csm=cumsum (pct)
rbind (table (x) ,pct,csm)
High Low Medium

19.00 10.00 15.00
pct 0.43 0.23 0.34
csm 0.43 0.66 1.00
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> x2=c("+","=")

> t=sample (x2,1000,replace=T,prob=c(0.05,0.95))
> mean (t=="+")

[1] 0.05

") b

> yl=rnorm(30,15,1)
> y2=rt(30,18)+16
> t.test(yl,y2,paired=T)

Paired t-test

data: yl1 and y2

t =-2.7702, df = 29, p-value = 0.009672
alternative hypothesis: true difference in
95 percent confidence interval:

-1.4549754 -0.2190471
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> n.a=nrow (permutations (n=3,r=1,v=1:4)) *nrow (permutations (n=2,r=1,v=1:3))
> n.s=nrow (permutations (n=5,r=2,v=1:7))

> n.a/n.s

[1] 0.3

> y=rep(c("red","blue") ,c(4,3))

> mean (replicate (1075, sum(sample (v, 2)==c("red", "blue"))==2))

[1] 0.28428
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f=function (x)x"2

curve (f,xlim=c(-2,2) ,ylim=c(-1,5))
abline (h=2,col=2)

h=function (x)x"2+1

curve (h,col=2,add=T)
t=function(x)x"2-1

curve (t,col=3,add=T)
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> x=rep(l:2,c(20,30))
> y=rnorm(50,10,6)
>
>

qgnorm(y) ;gqline (y)
t.test(y~x,alter="greater")

Welch Two Sample t-test

data: y by x

t = 0.24255, df = 43,937, p-value =
0.4047

alternative hypothesis: true difference
95 percent confidence interval:
-2.434802 Inf
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